( There are 11 questions in this test. Give yourself 10 minutes to answer them all. )

Read the words below. ,
Tick the word which is a verb made by adding a suffix to the word
‘apology’.

tick one box
apologetic | |
apologise [:]
apologies I:'
apologetically |
1 mark
2 Write a question beginning with the word given below.
WWIHBES .. cosiossisimmsssssimii s e S e e e st
1 mark

3. Read the sentence below. Tick the pair of phrases that complete the
sentence so it's in the present progressive tense.

The acrobats . carefully on the tightrope whilst the clowns

sweets into the audience.

...............

tick one box
will balance will throw D
were balancing were throwing |:]
had balanced had thrown I:'
are balancing are throwing l:l .

1 mark



4, Circle the passive sentences below.

Mickey burnt the cakes. Our decision was made.

The prisoner was captured. | practise playing the guitar.

1 mark

5. The sentence below is missing two commas.
Tick two boxes to show where the commas should go.

I missed the parade the one on High Street because I overslept.

T T T T

1 mark

6. Choose a suitable conjunction to introduce the subordinate
clause in this sentence. -

» Iliketoread . I eat my breakfast.
tick one box
because
while
although
SO

1 mark
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Answers to he revealed on the next pagel



Test 4 — Pages 32-35

1. 1 mark
apologise

2. 1 mark

Answers may vary, for example:
What film shall we watch tonight?

3. 1 mark
are balancing are throwing

4. 1 mark for both correct

The prisoner was captured.
Our decision was made.

5. 1 mark for both correct
| missed the parade the one on High

v

Streethecause | overslept.

v

6. 1 mark
while



